SwS Algebra 2

Spring 2003 Final - Seniors


Answer the following problems, documenting your solution using nouns, verbs, and –ly words. 

1. Give the Vertex or Intercept form for –1.7x2 + 12.5x + 1. Verify with a graph.

2. Use your Quadratic program to help convert the following expression into the other two forms. Report all indicated values.
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3. Give the calibration equation, the slope, and the y-intercept for the following probe.

	True Value pH
	Voltage

	11.45
	51

	1.5
	250


4. Using the probe calibrated in question 3, what would you expect the voltage be if the material had a pH of 7.7?

5. Use your TII file with the Slidebars for Green Globs. Set the values: 
A = - 10.777; B = -155; C = 11.11
Now set the Points as shown.

	X
	-5
	-8
	2

	Y
	-1868
	-982
	987


Adjust the values of A, B, and C so that you hit two points. Report the values of A, B, and C for this situation.
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